7

19;}’ YILDIZ
&

N4

& POMPA

KULLANIM ALANLARI

. Fuel Qil Servis Tanklari, Gaz Yagi, Mazot
Tankerlerinde
o Recine ve Polimerler
o Asfalt ve Bitim
o Kagit ve Boya Sanayinde
o Klguk capta kizgin yag sirkilasyonlarinda
o ilag, kimya ve deterjan sanayinde
o Gida Sanayinde.
MALZEME SECENEKLERI
o Pompa Goévdesi, Kapaklar : Dékme (pik)

demir, Sfero dokim, Celik dokiim, Paslanmaz
AISI 304- AISI 316 dokim

. Disliler : Sfero dokiim, Celik dokiim,
Paslanmaz AISI 304- AISI 316 dokim

. Yataklar : Snbz 12 bronz, karbon grafit,
Silisyum Karbr, Sert Metal Kaplama, rulman

o Sizdirmazhk: Yumusak Salmastra,
Rotatherm Salmastra, Mekanik salmastra. Kegeli
Sistem, Kartex Mekanik Salmastra

oy ® YKKF 2" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

POMPA DEGERLERI /
PUMP PROPERTIES

Q :11,6 m3/h

Hm :1~ 14 Bar

T :0~ 200 eC

n :500 d/d

Visc. :100 ~ 250.000 SSU

USE AREAS

o Fuel Oil Service Tanks, Gasoil, Diesel
Tankers
o Resin and Polymer
o Asphalt and Bitumen
. Paper and Paint/dye industry
o Circulation of Hot Oil (limited)
o Medicine, Chemical and Detergent
Industry
. Food Industry.

MATERIAL OPTIONS
o Pump Body, covers : Pig Cast Iron,

Spheroidal Cast iron, Cast Steel, AlSI 304/316
CrNi Stainless Steel

o Gears : Spheroidal Cast iron, Cast Steel,
AlISI 304/316 CrNi Stainless Steel

. Bearings: Snbz 12 bronze, carbon
graphite, slicon carbide, hard metal coated steel,
bearing

. Sealing: Soft Seal or Packing Gland,
Rotatherm Seal, Lip Seal, Mechanical Seal,
Cartridge Type Mechanical Seal

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

5 YKKF 2" POMPA

o YILDIZ INTERNAL ECCENTRIC
L e GEAR PUMP
. & POMPA

ICTEN EKSANTIK DiSLi POMPA CALISMA PRENSIBI /
WORKING PRINCIPLE OF INTERNAL ECCENTRIC GEAR PUMP

Yildiz Pompa' nin "disli iginde disli" prensibinde sadece iki tane hareketli par¢a vardir. Biitiin
pozitif deplasmanli YILDIZ disli pompalarinin glvenilir ve verimli calismasinin sirri budur. Sivinin
pozitif deplasmani (yer degistirmesi) rotor ve avare dislisinin disleri arasindaki boslugun komple
dolmasiyla saglanmaktadir. Biitin disli pompalarda oldugu gibi, YILDIZ POMPA’ da da performansin
en Ust noktaya cikmasini sinirlayici yegane faktér, pompalanan sivinin digerlerine gére daha temiz
olmasini istemesidir.

Pompa milinin her devrinde emis agzi yoluyla belli bir miktar sivi pompaya girer. Bu sivi rotor
ile avare dislisi arasindaki boslugu doldurur. Pompa kapaginda bulunan hilal, ¢ikis agzina dogru
plrizsiz sekilde hareket eden sivinin akisini ayirir. Kendi disleri ile hilalin i¢ ylizeyi arasinda siviyi
tasiyan avare dislisi pompa kapaginin destekledigi bir mil (izerinde doéner. Disleri arasinda siviyi
tastyan rotor dislisi pompa gévdesi ile hilalin dis ylizeyi arasinda hareket eder ve pompa miline
baglidir.

YILDIZ’s simple “gear-within a gear” principle has only two moving parts. It is the secret of
dependable, efficient operation of all positive displacement YILDIZ POMPA’s PUMPS. The positive
displacement of liquid is accomplished by the complete filling of the spaces between the teeth of the
rotor and idler gears. The only limiting factor to peak performance in YILDIZ POMPA, as with all rotary
pumps, is that the liquid pumped must be comparatively clean.

With every revolution of the pump’s shaft, a definite amount of liquid enters the pump
through the suction port. This liquid fills the spaces between the teeth of the rotor and the idler. The
crescent on the pump head splits the flow of liquid as it moves smoothly towards the discharge port.
The idler gear, which carries the liquid between its teeth and the inside surface of the crescent is
connected to pump cover. On the otherhand, rotor gear which is rotated directly with pump shaft
delivers the liquid between gear teeth and crescent’s souter surface.

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

®

4

4/

>l
LA™ ’

f«

& POMPA

 YILDIZ

YKKF 2" POMPA

INTERNAL ECCENTRIC

GEAR PUMP

Yandaki renkli kisim sivinin pompa gévdesindeki emis
agzi alanina, rotor diglisi ve avare dislisi disleri arasindaki disli
bosluklari alanina girisini gosterir. iki siyah ok pompanin
donis ve sivinin ilerleyisini gosterir.

The yellow colored portion at side indicates the liquid
as it enters the suction port area of the casing and the area
between the rotor teeth and corresponding concave area
between the idler teeth. The two black arrows indicate the
pump rotation and progress of the liquid.

"Digli iginde disli" prensibinde ¢alisan digliler ile
pompa icinde sivinin ilerleyisine dikkat edin. Ayni zamanda,
pompa kapagi lizerindeki hilal seklinin siviyi nasil boldigline
ve emis ile bosaltma agizlari arasinda bir kege (conta) gibi
vazife gordigine dikkat ediniz.

Notice the progress of the liquid through the pump
and between the teeth of rotor idler gear. Also, note how the
crescent shape on the head divides the liquid and acts as a
seal between the suction and discharge ports.

Bu resim pompanin i¢ kisminin dolup sivinin bosaltma
agzi alanina itilmesinden hemen 6nceki durumunu
gostermektedir. Avare ve rotor dislilerinin dizayninin sivi igin
nasil bir kapali cep olusturduguna ve bunun tam bir hacim
kontroll saglanmasini nasil garantiledigine dikkat ediniz.

This illustration shows the pump in a nearly flooded
condition just previous to the liquid being forced into the
discharge port area. Notice how the gear design of the idler
and rotor form locked pockets for the liquid to guarantee
absolute volume control.

Bu goriintl pompanin tamamen dolup tastigl durumu
ve sivinin bogaltma islemini, bosaltma agzindan ilerleyisini
gostermektedir. Emis ve bosaltma agizlarina esit mesafede
sizdirmaz bir kece olusturan, siviyi bosaltma agzindan disari
dogru iten, rotor ve avare dislisinin disleri birbiri icine geger.

The view shows the pump in a completely flooded
condition and in the process of discharging the liquid through
discharge port. The rotor and idler teeth mesh, forming a seal
equidistant between the both ports, forcing liquid out the
discharge port.

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

&2 YKKF 2" POMPA
@;\g, YILDIZ INTERNAL ECCENTRIC
A s ' POMPA GEAR PUMP
diponip

YKK-2" - YKKF-2" - YKKYF-2" POMPASINA AiT KAPASITE VE GUC TABLOSU /

CAPACITY AND POWER TABLE

" KAPASITE (m¥h) | DEVIR (d/d) CIKIS BASINCI / PRESSURE VISKOZITE
CAPACITY (Q) SPEED (rpm) —— . e e VISCOSITY
0.9 40 0,50HP | 0,75HP | HP 1,5 HP 75.000 SSU
1.2 60 0,75 HP | HP 1,5 HP 2 HP 25.000 SSU
1,7 100 I HP 1,5 HP 2 HP 2 HP 25.000 SSU
63 280 3 HP 3 HP 4 HP 5,5 HP 7.500 SSU
7.8 340 3 HP 4 HP 5,5 HP 5,5 HP 2.500 SSU
10,5 450 3 HP 4HP 5,5 HP 7,5 HP 750 SSU

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

Moy ® YKKF 2 POMPA

\~ . YILDIZ INTERNAL ECCENTRIC
4 s ’POMPA GEAR PUMP

KAPASITE EGRILERi / CAPACITY GRAPHS

— — \B
& &
= =) o
(=3 =4 T
g 1 Bb g i ‘}3
=
o e B o
& 1~ Tasn = b Lsoit
w w
o B e e SR = = genmu =
=] 17 BAR —1_— | —1 oA
% e S o g e e M il
o . 3 ;
—0 oy — Q)
= "\Q’V‘A@& = | o)
B3 Sy E 1135 <8
— /e - ‘(gf
i =
] / i 5
£ 9.1 /] 2 0.1 i
5 7 2 P
g 6.81 A g 6.81 ///
= Y : 4
G lasa A s S 454 ve /]
£ Y 2 B
SE2 / VISC: 38 85U 5 e # VISC: 100 SSU
72 ot v/
/]
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600 700
PUMP SPEED (rpm)-POMPA DEVRI (d/d) PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YKK-2" - YKKF-2" - YKKYF-2" YKK-2" - YKKF-2" - YKKYF-2"
5? &%\” 6:‘ ?:,;
) L~ =) \“‘/%
3 )
g poad Sl e § / )9);
) Ak ) / ey
5 3585 5 17 A2aih et i
7] — )
e // —1—171 8N 4 B s v
—— A 1 ]
% =’é/ % ;%
= K
= VAT = .
= &
B 1135 > E |113s A
e - y g
D ‘5 AR
29 2 9. SIS
(=] 4 a /
=/ 6.81 / i 6.81 /]
r / 4 = /
2 4.54 / g 4.54 ]
x d = /
SBa 2/ VISC: 750 S5U o rpy BEEEY VISC: 2500 55U
I, /]
v
0 100 200 300 400 500 600 700 0 100 200 300 400 500 600
PUMP SPEED (rpm)-POMPA DEVRI (d/d) PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YKK-2" - YKKF-2" - YKKYF-2" YKK-2" - YKKF-2" - YKKYF-2"

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
el : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

N YKKF 2 POMPA
P ’YILDIZ INTERNAL ECCENTRIC

e POMPA GEAR PUMP
%

] // ﬁ,

HORSEPOWER (HP)

(=
\Z.
TR

1.1 BR

o0

PUMP SPEED (rpm)-POMPA DEVRI (d/d)

-
=
£ [11.35
5 =
B
L l9.1 z
o B
<) >
;’6.81
= /
Q
S 45
z
U 1227 / VISC: 7500 SSU
0 50 100 150 200 250 300 350 400 450
PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YKK-2" - YKKF-2" - YKKYF-2"
&
=
o SRR T
§ » }.Iuvl\?‘&
e} //3_58}\
& =
e /ﬂbﬂ
@] %
=,
=
B 568
5
A 454
2 341 /
> /
g5
% 227 //
2
U L4 VISC: 75000 SSU|
7]
0 50 100 150 200 250

YKK-2"

- YKKF-2"

- YKKYF-2"

—~ 3
% 7 \mgP-
— M6 0“;.31
i [T 5{)"
o B
3
A e
=4 //
=)L e
T 0 ‘é /
st %
£ ,\w%
E 568 A
=
A 454 //
Sha
> /
=
3 2.27 /
(=™
Shte / VISC:_25000 SSUJ
0 50 100 150 200 250 300 350
PUMP SPEED (rpm)-POMPA DEVRI (d/d)
YKK-2" - YKKF-2" - YKKYF-2"
&
i B
o
= I /A¢
] /
1
% 1 // il
e
S+ A
T By
= ¢
£ 1568
=
5 4.54
A -
Shsa
E } 3
% 2.27
% 114 ,/ VISC: 250000 55U
e
0 25 50 75 1000 125 150 175

PUMP SPEED (rpm)-POMPA DEVRI (d/d)

YKK-2"

- YKKF-2"

- YKKYF-2"

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
el : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

..@"Z; 3 YKKF 2" POMPA

: ) YILDIZ INTERNAL ECCENTRIC
POMPA GEAR PUMP
t Upomp
POMPA BOYUT OLCULERi / PUMP DIMENSIONS
YKK 2" 140 YKKF 2"
@14
KG.
50
432 89
95 55 » 0 !
87 —~—=2 st R/‘,_‘_,:f } 12 2
. 3 __l___f\@z 7%
M~ ~ i\-w,_'j:k /ﬁ/‘(é
S S -
KG. 274 70 |[88_|
5 105

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

S, ®
e S
=~ YILDIZ
&
st ~ ) POMPA
ipomp

-

YKKF 2" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

AKUPLAJ OLCULERI / COUPLING DIMENSIONS
REDUKTOR AKUPLELI / GEARBOX DRIVE

YKKF 2"
_162 _

162

140

65

P21 500 100
700
YKKYF 2"
89,
2|| |
> —t
Ly ) q 4.- \ﬁ‘
o = o
= o F
= o !
= N
[Tl
[{=
021 100 500 100
700
YKK 2" 140
MOTOR GUC VE DEVIRLERI /!
MOTOR POWER AND SPEED =~
2
1hp /075 kw v
20755 0/d (rpm) | IRAMG3/80M 950{ 3111118 115
1.50p/ 1.1 kw =
277104 d/dirpm) _|IRAM63/905 s e =
325 132
2hp /1.5 kw 1001 120 )
33/98 0/d (pm)  [IRAMB3/0L 8
3-4hp /22-3kw L @21
47796 0/d (1pm)__|IRAMG3/100L 10421 aaf | 141 [1Hfla0 30
5.5hp/ 4 kw
104/126 4/d (rpm) | RAMG3/112M 1) o2 1) 12 Ll

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

e YKKF 2" POMPA
o 50 YILDIZ INTERNAL ECCENTRIC
' & POMPA GEAR PUMP
N dlpemp
YKK 2"
140 |
o)
~ I
™ o
Ly x| e
F %
< 421 |
} 310 100 B 100
350 C
YKKYF 2"
334
2\‘\
@
) - SSHio)
o]
=
- |
2 | |
a2 100 B 100
C
MOTOR GUC VE DEVIRLERI / 162
MOTOR POWER AND SPEED YKKF 2’"
1,500/ 1.1 ki
60/380 d/d(pm) _[IRAM52/90 M w0l saols S
I
S Hi A o a2 L
pm)_ [IRAMB2/900 -
Shp /2.2kw R =
50/234 d/d(pm) _ [IRAMB2/C90L 101 525 T 2
4hp [ 3kw i ©
65/450 0/d(ipm) _[IRANG2/100L 1045) 334 | 141 | 500/ 700 125 | li
55hp/ 4kw 75hp /5.5 kw 310 il
87/480 jdpm) | 210/450 d/agpm) | 1065 342 | 149 127142 250
RAMG2/112M _|IRAM62/C112M
7.5 1D/ 5.5 ki
75/210 d/d(rpm) _ [IRAM72/1325 1151|371 | 182 | 600 | 800| 148

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21 www.yildizpompa.com.tr

g21



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

>, ®
5 4
(=

7

N4

pd

R

YKKF 2"

& YILDIZ
" POMPA

YKKF 2" POMPA

INTERNAL ECCENTRIC
GEAR PUMP

KAYIS KASNAK AKUPLELi POMPA OLCULERI /

BELT PULLEY COUPLING PUMP DIMENSIONS

. 162

65

MOTOR GUC VE DEVIRLERI /

| 450 186
2“
i fe vl 1o
é\ O i [N =
==
o L.
‘ H 921
. D
E

MOTOR POWER AND SPEED

nl nl n3 n4

d/d| d/id| did| d/id
3hp /22w MOTOR 100L 140
1hp /3kw MOTOR 100L 150
55 /4 kw MOTOR 112M 680 | 880 | 300 | 430 | 195
75hp /55 ku MOTOR 1325 450| 400| 350 | 310| 140 | 195 | 195 | 250 165
10hp /7.5 kw MOTOR 132 175
15hp /11 ke MOTOR 160M 730
20hp /15 kw MOTOR 160L 930 |1150 | 530 | 570 [7gp

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. Bél. 5.Sk. No:7 Tuzla / ISTANBUL

Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

& YKKF 2" POMPA
PN o ) YILDIZ INTERNAL ECCENTRIC
GEAR PUMP

t§ POMPA
iipomp

YEDEK PARGA LISTESi / SPARE PARTS LIST
YUMUSAK SALMASTRALI VE BYPASSLI / SEALED WITH SOFT SEAL AND PRESSURE RELIEF
VALVE ON COVER

1

1R 1

23 4
|

PARCA ismi

56 7 65

”& ‘1“&1[[@ B s

8 9 0 1

PART NAME

39 13 14 16

PARCA iSMi

17 21 22 23 24 25 26 1327 28 29

PART NAME

1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 1 CEVRE DiSLi ROTOR GEAR 1
2 KILIT SOMUNU LOCK NUT 1 23 AVARADISLI IDLER GEAR GEAR 1
3 KILITSACI LOCK WASHER 1 24  AVARA DiSLi BURCU IDLER BUSHING 1
4  BILEZIK SPACER 1 25  KAPAK MiLi BYPASSED COVER PIN 1
5  AYAR SOMUNU ADJUSTING NUT 2 26 KAPAK (BYPASSLI) COVER (w/ BYPASS 1
INLETS)
6  KECE ¢35x¢62x10 LIP SEAL 935x@62x10 2 27  BYPASS CONTASI BYPASS GASKET 2
7  RULMAN (2306) BALL BEARING (2306) 1 28  BYPASS PRESSURE RELIEF VALVE 1
8  SALMASTRA BASKISI PACKING PRESS 1 29 6 KOSE CIVATA M8x25 HEX BOLT M8x25 8
9  YUMUSAK SOFT SEAL / PACKING 1TK. 30  BYPASS O-RING BYPASS O-RING 1
SALMASTRA GLAND
10 KONSOL BURCU BRACKET BUSHING 1 31  KLEPE VALVE 1
1 MiL SHAFT 1 32 YAY SPRING 1
12 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 33 PUL WASHER 1
13 IMBUS CIVATA INBUS BOLT M10x30 14 34  BYPASS KAPAGI BYPASS COVER 1
M10x30
14  KONSOL BRACKET 1 35  Til KAPAK O-RING CAP O-RING 1
15  KONSOL (CEKETLI) BRACKET (w/HEATING 1 36 M12 SOMUN NUT M12 1
JACKET)
16  KONSOL CONTASI BRACKET GASKET 1 37 6 KOSE CIVATA M12x80 ADJUSTING SCREW 1
M12x80
17  ARA GOVDE (BORU CASING (90° THREADED 1 38  TiJ KAPAGI CAP 1
DiSLi 90°) PORTS)
18  ARA GOVDE (FLANSLI  CASING (90° FLANGED 1 39  GRESORR3/8" GREASING FITTING 1
90°) PORTS) R3/8"
19 ARA GOVDE (FLANSLI  CASING (90° FLANGED 1 40  SETUSKUR M10x16 GRUB SCREW M10x16 4
CEKETLI 90°) PORTS & w/HEATING
JACKET)
20 ARA GOVDE CASING (180° FLANGED 1 41  M10 SOMUN NUT M10 2
(FLANSLI180°) PORTS)
21 KAPAK CONTASI COVER GASKET 1 42 4 KOSE SALMASTRA SQUARE SCREW 2
BASKI CIVATASI M10x70 M10x70

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
el : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

YILDIZ

- POMPA

Upemp

YEDEK PARGA LISTESi / SPARE PARTS LIST

YKKF 2" POMPA

INTERNAL ECCENTRIC

GEAR PUMP

YUMUSAK SALMASTRALI, CEKETLi VE KOR KAPAKLI / SEALED WITH SOFT SEAL, JACKETED,
AND WITH BLIND COVER

No PARCA iSMmi

PART NAME

28

4
30 AN

ADET/ No

1314 16

LTS

PARCA iSMi

21 27

PART NAME

17 21 22 23 24 25 26 13

ADET/

Qry.
1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 1 17  ARA GOVDE (BORU CASING (90° THREADED 1
DiSLi 90°) PORTS)
2 KiliT SOMUNU LOCK NUT 1 18  ARA GOVDE (FLANSLI  CASING (90° FLANGED 1
90°) PORTS)
3 KiliTSACI LOCK WASHER 1 19 ARA GOVDE (FLANSLI  CASING (90° FLANGED PORTS 1
CEKETLI 90°) & w/ HEATING JACKET)
4  BILEZIK SPACER 1 20 ARA GOVDE CASING (180° FLANGED 1
(FLANSLI180°) PORTS)
5  AYAR SOMUNU ADJUSTING NUT 2 21  KAPAK CONTASI COVER GASKET 2
6  KECE ¢35x@62x10 LIP SEAL p35x@62x10 2 22 GEVRE DisLi ROTOR GEAR 1
7  RULMAN (2306) BALL BEARING (2306) 1 23 AVARA DiSLi IDLER GEAR 1
8  SALMASTRA BASKISI PACKING PRESS 1 24  AVARA DiSLi BURCU IDLER BUSHING 1
9  YUMUSAK SOFT SEAL / PACKING 1TK. 25  KAPAK MiLi COVER PIN 1
SALMASTRA GLAND
10 KONSOL BURCU BRACKET BUSHING 1 26  KAPAK (KOR) BLIND COVER 1
11 MiL SHAFT 1 27  KAPAK (CEKETLI) COVER (w/ HEATING JACKET) 1
12 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 28 GRESORR3/8" GREASING FITTING R3/8" 1
13 IMBUS CiVATA INBUS BOLT M10x30 14 29  SETUSKUR M10x16 GRUB SCREW M10x16 4
M10x30
IMBUS CiVATA INBUS BOLT M10x35 6
M10x35 (FOR COVER W/HEATING
(CEKETLI KAPAK IiCiN) JACKET)
14  KONSOL BRACKET 1 30 M10 SOMUN NUT M10 2
15  KONSOL (CEKETLI) BRACKET (w/HEATING 1 31 4 KOSE SALMASTRA SQUARE SCREW M10x70 2
JACKET) BASKI CiVATASI
M10x70
16  KONSOL CONTASI BRACKET GASKET 1

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

YKKF 2" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

é:,\, ,gryf’ YILDIZ

té - POMPA

MEKANIK SALMASTRALI VE BYPASSLI / SEALED WITH MECHANICAL SEAL, AND PRESSURE

!

Y Yrey L]
=310 § EH-G s -

iipomp

23 4

PARCA isSMi

56 7 6586891011 12

YEDEK PARGA LISTESi / SPARE PARTS LIST

RELIEF VALVE ON COVER

®

40

PART NAME

13 14 16

PARCA isSMi

17 21 22 23 24 25 26

20

PART NAME

13 27 28 29

m{ 'l ?

30

31
32

1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 1 21  KAPAK CONTASI COVER GASKET 1

2 KiLiT SOMUNU LOCK NUT 1 22 CEVRE DiSLi ROTOR GEAR 1

3 KILIT SACI LOCK WASHER 1 23 AVARA DiSLi IDLER GEAR 1

4 BILEZIK SPACER 1 24  AVARA DiSLi BURCU IDLER BUSHING 1

5  AYAR SOMUNU ADJUSTING NUT 2 25  KAPAK MiLi BYPASSED COVER PIN 1

6  KEGE ¢35x@62x10 LIP SEAL 35x@62x10 3 26 KAPAK (BYPASSLI) COVER (w/ BYPASS 1

INLETS)

7  RULMAN (2306) BALL BEARING (2306) 1 27  BYPASS CONTASI BYPASS GASKET 2

8 ICSEGMAN (g62) INTERNAL CIRCLIP (#62 ) 2 28  BYPASS PRESSURE RELIEF VALVE 1
RULMAN (6007) BALL BEARING (6007) 2 29 6 KOSE CIVATA M8x25  HEX BOLT M8x25 8

10  MEKANIK SALMASTRA MECHANICAL SEAL @35 1 30 BYPASS O-RING BYPASS O-RING 1
@35

11 MiL SHAFT 1 31  KLEPE VALVE 1

12 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 32 YAY SPRING 1

13 IMBUS CiVATA M10x30 INBUS BOLT M10x30 14 33  PUL WASHER 1

14  KONSOL BRACKET 1 34  BYPASS KAPAGI BYPASS COVER 1

15  KONSOL (CEKETLI) BRACKET (w/ HEATING 1 35  TiJ KAPAK O-RING CAP O-RING 1

JACKET)

16  KONSOL CONTASI BRACKET GASKET 1 36 M12 SOMUN NUT M12 1

17 ARA GOVDE (BORU DiSLi  CASING (90° THREADED 1 37 6 KOSE CIVATA ADJUSTING SCREW 1
90°) PORTS) M12x80 M12x80

18  ARA GOVDE (FLANSLI CASING (90° FLANGED 1 38  Til KAPAGI CAP 1
90°) PORTS)

19  ARA GOVDE (FLANSLI CASING (90° FLANGED 1 39 GRESORR3/8" GREASING FITTING 2
CEKETLi 90°) PORTS & w/ HEATING R3/8"

JACKET)

20 ARA GOVDE CASING (180° FLANGED 1 40  SETUSKUR M10x16 GRUB SCREW M10x16 4

(FLANSLI180°) PORTS)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

YKKF 2" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

\\ e YILDIZ
s~ POMPA

R

1

- =

iipomp

23 4

010§ EHH-GH 0

PARCA iSMi

56 7 6586891011 12

YEDEK PARGA LISTESi / SPARE PARTS LIST
MEKANIK SALMASTRALI, CEKETLi VE KOR KAPAKLI / SEALED WITH
MECHANICAL SEAL, JACKETED, AND WITH BLIND COVER

PART NAME

28

13 14 16

17 21 22

.

PARCA iSMi

23 24 25 26 13

PART NAME

1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 16 KONSOL CONTASI BRACKET GASKET

2 KiLIT SOMUNU LOCK NUT 1 17  ARA GOVDE (BORU CASING (90°
DiSLi 90°) THREADED PORTS)

3 KiLT SACI LOCK WASHER 1 18  ARA GOVDE (FLANSLI  CASING (90° FLANGED
90°) PORTS)

4  BILEZIK SPACER 1 19 ARA GOVDE (FLANSLI  CASING (90° FLANGED
CEKETLi 90°) PORTS & w/ HEATING

JACKET)

5  AYARSOMUNU ADJUSTING NUT 2 20 ARA GOVDE CASING (180°
(FLANSLI180°) FLANGED PORTS)

6  KECE ¢35x962x10 LIP SEAL 35x@¢62x10 3 21 KAPAK CONTASI COVER GASKET

7  RULMAN (2306) BALL BEARING (2306) 1 22 GEVRE DiSLi ROTOR GEAR

8  ICSEGMAN (g62) INTERNAL CIRCLIP (#62 ) 2 23 AVARA DiSLi IDLER GEAR

9  RULMAN (6007) BALL BEARING (6007) 2 24  AVARA DiSLi BURCU IDLER BUSHING

10 MEKANIK SALMASTRA 335 MECHANICAL SEAL @35 1 25  KAPAK MiLi COVER PIN

11 MiL SHAFT 1 26  KAPAK (KOR) BLIND COVER

12 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 27  KAPAK (CEKETLI) COVER (w/ HEATING

JACKET)
13 IMBUS CiIVATA M10x30 INBUS BOLT M10x30 14 28 GRESORR3/8" GREASING FITTING
IMBUS CiVATA M10x35 INBUS BOLT M10x35 (FOR 6 R3/8"
(CEKETLI KAPAK IiCiN) COVER w/ HEATING
JACKET)
14 KONSOL BRACKET 1 29  SETUSKUR M10x16 GRUB SCREW M10x16
15  KONSOL (CEKETLI) BRACKET (w/ HEATING 1
JACKET)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
el : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

iipomp

PARCA iSMi

YILDIZ
POMPA

YKKF 2" POMPA

INTERNAL ECCENTRIC
GEAR PUMP

YEDEK PARGA LISTESi / SPARE PARTS LIST
KECELI, CEKETLI VE KOR KAPAKLI / SEALED WITH LIP SEAL, JACKETED
AND WITH BLIND COVER

PART NAME

28

1314 16

PARCA iSMi

17 21 22 23 24 25 26

PART NAME

13

1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 16  KONSOL CONTASI BRACKET GASKET

2 KiLiT SOMUNU LOCK NUT 1 17 ARA GOVDE (BORU CASING (90° THREADED 1
DiSLi 90°) PORTS)

3 KiLiT SACI LOCK WASHER 1 18  ARA GOVDE (FLANSLI  CASING (90° FLANGED 1
90°) PORTS)

4  BILEZIK SPACER 1 19  ARA GOVDE (FLANSLI  CASING (90° FLANGED 1
CEKETLI 90°) PORTS & w/ HEATING

JACKET)

5  AYAR SOMUNU ADJUSTING NUT 2 20  ARA GOVDE CASING (180° FLANGED 1
(FLANSLI180°) PORTS)

6  KEGE ¢35xp62x10 LIP SEAL ¢35x¢62x10 2 21 KAPAK CONTASI COVER GASKET 1

7  RULMAN (2306) BALL BEARING (2306) 22 GEVRE DiSlLi ROTOR GEAR

8  iCSEGMAN (¢56) INTERNAL CIRCLIP (56) 1 23 AVARA DisLi IDLER GEAR 1

9  KEGE p35x@56x10 LIP SEAL ¢35x@#56x10 3 24 AVARA DiSLi BURCU IDLER BUSHING 1

10  KONSOL BURCU BRACKET BUSHING 1 25  KAPAK MiLi COVER PIN 1

11 MiL SHAFT 1 26 KAPAK (KOR) BLIND COVER 1

12 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 27 KAPAK (CEKETLI) COVER (w/ HEATING 1

JACKET)
13 IMBUS CIVATAM10x30  INBUS BOLT M10x30 14 28 GRESORR3/8" GREASING FITTING 1
IMBUS CIVATA M10x35  INBUS BOLT M10x35 (FOR 6 R3/8"
(CEKETLI KAPAK iGIN) COVER w/HEATING JACKET)
14  KONSOL BRACKET 1 29  SETUSKUR M10x16 GRUB SCREW M10x16 4
15  KONSOL (CEKETLI) BRACKET (w/HEATING 1

JACKET)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

YKKF 2" POMPA
INTERNAL ECCENTRIC
GEAR PUMP

Q\\\g YILDIZ
,& POMPA
ilpemp

/)

YEDEK PARGA LISTESi / SPARE PARTS LIST
KARTEXLi VE BYPASSLI / SEALED WITH CARTEX MECHANICAL SEAL, AND PRESSURE RELIEF
VALVE ON COVER

PARCA ismi

910 11

12 13 14

|
|
+

PART NAME

40 15 16 17

18 22 23 24 25 26

PARCA isSMi

27 15 28 29 30

PART NAME

1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 1 22 KAPAK CONTASI COVER GASKET 1
2 KiLIT SOMUNU LOCK NUT 1 23 CEVRE DiSLi ROTOR GEAR 1
3 KiLITSACI LOCK WASHER 1 24  AVARA DiSLi IDLER GEAR 1
4  BILEZIK SPACER 1 25 AVARA DiSLi IDLER BUSHING 1
BURCU
5  AYAR SOMUNU ADJUSTING NUT 1 26  KAPAK MiLi BYPASSED COVER PIN 1
6  KEGE ¢35xp62x10 LIP SEAL 35x¢62x10 2 27  KAPAK COVER (w/ BYPASS INLETS) 1
(BYPASSLI)
7  RULMAN (2306) BALL BEARING (2306) 28  BYPASS CONTASI  BYPASS GASKET 2
8 TAMBUR PULLEY 29  BYPASS PRESSURE RELIEF VALVE 1
6 KOSE CiVATA M10x45 HEX BOLT M10x45 2 30 6 KOSE CIVATA HEX BOLT M8x25 8
M8x25
10 M10PUL M10 WASHER 2 31  BYPASS O-RING BYPASS O-RING 1
11  CARTEX SALMASTRA @35 CARTEX SEAL 35 1 32 KLEPE VALVE 1
12 KONSOL BURCU BRACKET BUSHING 1 33 YAY SPRING 1
13 MiL SHAFT 1 34  PUL WASHER 1
14 KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 35  BYPASS KAPAGI BYPASS COVER 1
15  IMBUS CIVATA M10x30 INBUS BOLT M10x30 14 36  TiJ KAPAK O- CAP O-RING 1
RING
16  KONSOL (CARTEX CEKETLI)  BRACKET (JACKETED & w/ 1 37 M12 SOMUN NUT M12 1
CARTEX)
17 KONSOL CONTASI BRACKET GASKET 1 38 6 KOSE CIVATA ADJUSTING SCREW 1
M12x80 M12x80
18  ARA GOVDE (BORU DislLi CASING (90° THREADED 1 39  Til KAPAGI CAP 1
90°) PORTS)
19  ARA GOVDE (FLANSLI 90°)  CASING (90° FLANGED PORTS) 1 40 GRESORR3/8" GREASING FITTING R3/8" 2
20  ARA GOVDE (FLANSLI CASING (90° FLANGED PORTS 1 41  SETUSKUR GRUB SCREW M10x16 4
CEKETLI 90°) & w/ HEATING JACKET) M10x16
21  ARA GOVDE (FLANSLI180°)  CASING (180° FLANGED PORTS) 1

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

R
& (5

1

tllwlm

23 4 56176

YILDIZ
- POMPA

YKKF 2" POMPA
INTERNAL ECCENTRIC

GEAR PUMP

YEDEK PARGA LISTESi / SPARE PARTS LIST
KARTEXLi VE CEKETLi KOR KAPAKLI / SEALED WITH CARTEX MECHANICAL SEAL, JACKETED
AND WITH BLIND COVER

8 9 10 11

12 13 14

29

15 16 17

18 22 23 24 25 26 27

O [w~-]

22 28

15

PARCA iSMi PART NAME PARCA iSMi PART NAME
1 KAMA 8x7x50 AB COUPLING KEY 8x7x50 AB 1 16  KONSOL (CARTEX BRACKET (JACKETED & 1
CEKETLI) w/ CARTEX)
KiLIT SOMUNU LOCK NUT 1 17  KONSOL CONTASI BRACKET GASKET 1
KIiLIT SACI LOCK WASHER 1 18  ARA GOVDE (BORU CASING (90° 1
DiSLi 90°) THREADED PORTS)
4 BILEZIK SPACER 1 19 ARA GOVDE (FLANSLI  CASING (90° FLANGED 1
90°) PORTS)
5  AYAR SOMUNU ADJUSTING NUT 1 20 ARA GOVDE (FLANSLI  CASING (90° FLANGED 1
CEKETLIi 90°) PORTS & w/ HEATING
JACKET)
6  KEGE ¢35x@62x10 LIP SEAL 35x@62x10 2 21 ARA GOVDE CASING (180° 1
(FLANSLI180°) FLANGED PORTS)
7  RULMAN (2306) BALL BEARING (2306) 1 22  KAPAK CONTASI COVER GASKET 1
8 TAMBUR PULLEY 1 23 CEVRE DiSLi ROTOR GEAR 1
6 KOSE CiIVATA M10x45  HEX BOLT M10x45 2 24  AVARA DisLi IDLER GEAR 1
10 M10PUL M10 WASHER 2 25 AVARADISLiBURCU  IDLER BUSHING 1
11  CARTEX SALMASTRA CARTEX SEAL @35 1 26  KAPAK Mili COVER PIN 1
@35
12 KONSOL BURCU BRACKET BUSHING 1 27  KAPAK (KOR) BLIND COVER 1
13 MiL SHAFT 1 28  KAPAK (CEKETLI) COVER (w/ HEATING 1
JACKET)
14  KAMA 8x7x32 A ROTOR KEY 8x7x32 A 1 29  GRESOR R3/8" GREASING FITTING 2
R3/8"
15 IMBUS CiVATA M10x30  INBUS BOLT M10x30 14 30 SETUSKUR M10x16 GRUB SCREW M10x16 4
IMBUS CIVATA M10x35  INBUS BOLT M10x35 (FOR 6

(CEKETLI KAPAK iGIN)

COVER w/HEATING JACKET)

YILDIZ POMPA MAKINA SAN. TIC .LTD. STI. Aydinli Mh. Birlik Org. San. B&l. 5.Sk. No:7 Tuzla / ISTANBUL
Tel : (0216) 378 64 21 www.yildizpompa.com.tr



http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/
http://www.yildizpompa.com.tr/

